HP Placement Paper 2010

1. # define swap(a,b) temp=a; a=b; b=temp;
main( )
{
int i, j, temp;
i=5;
j=10;
temp=0;
if( i > j)
swap( i, j );
printf( "%d %d %d", i, j, temp);
}

2 .which action Java platform restricts on applets 

a. Image viewing 
b. Accept user i/p 
c. write to system files 
d. initialise date in browser 

3. Java was initially code named as: 

a)Oak                 b)green                 c)miller 

4.Which of the following values of 'n' satisfies the in-equality n2 - 24n + 143 < 0?

1) n < 11
2) n > 13
3) 11 < n < 13
4) 11 > n > 13
5) None of these

5.If 2x+y = 11, 2y+z = 12 and z+2x = 8, find the value of 2x + 3y +4z.

1) 29
2) 33
3) 25
4) 39
5) None of these

6. A shopkeeper labels the price of article 15% above the cost price. If he allow Rs 51.20 discount on an article of Rs 1024, find his profit percent.
1) 10%
2) 8%
3) 12%
4) 9%
5) 9.25%

7. Which of the following numbers are completely divisible by 11?

A. 3245682
B. 283712
C. 438416
D. 36894

1) Only A
2) Only B
3) Only C
4) Only D
5) All are divisible

8.Extending the class means 

9.How many values does char of java has 

10.Java pgm can be executed on any m/c how? 

11. What is meant by Open Source Is Java Open Source or not

12. What are interfaces, abstract classes. What is their purpose and differences

13. What is UseCase What is the template to write UseCases

14. What is the difference between CMM and CMMI

Directions (Q.15- 19): Which of the phrases 1), 2), 3) and 4) given below each sentence should replace the phrase printed in bold to make the sentence correct? If the sentence is correct as it is, mark 5), i.e. “No correction required”, as your answer.

15. Socialism means any form of government which talks about
a welfare state has some notion of improving of the bulk
of common man.
1) improving of the quantity of
2) improving the lot of the
3) improvement into the numbers of
4) improvement in bulk of
5) No correction required

16. The economic superiority of the market system will make its acceptance inevitable sooner rather than later.
1) no sooner rather than later
2) more sooner than later
3) no later than sooner
4) much sooner to later
5) No correction required

17. Cultural interchange has created many common values the world across.
1) the entire world
2) among the world
3) over the world
4) the world over
5) No correction required

18. For the decades, Muslim countries had the highest birth rates in the world.
1) During decades
2) For decades
3) Almost during the decades
4) Since decades
5) No correction required

19. Since change is gradual, the old values have not disappeared by any means.
1) with any sort
2) by any efforts
3) by any single means
4) for any mode
5) No correction required

20. A boat covers 24 km upstream and 36 km downstream in 6 hours, while it covers 36 km upstream and 24 km downstream in 6.5 hours. Find the speed of the current.

1) 1 km/hr
2) 2 km/hr
3) 4 km/hr
4) 8 km/hr
5) None of these

